
(&'Grircrco A
Customer lnformolion ond Assistonce

L zgz-llc-qaso

I GólFolon Corp*olion
2EWdlds Folr Drlvê

Somdset, NJ 08823

6 w.gofoton.com

A

6)zï

ó

EACOC@ 8-Ports Clamshell
Hardened Têrminal (CHT)

Quick lnstallation Guide

PEACOC@ 8-PORTS CLAMSHELL HARDENED TERMTNAL (CHT)
POLE/WALL/PEDESTAL MOUNTING WITH ANCHOR PLATE

Putthe CHT

on frontof the
mounting kits.
lnseÉ 3 pcs
M4 screws on
each screw
holeson top
of the

assembly.

ff

QRCode

m,l

lnseÉthe 2 pcs
M4 scrEws on
the right side of
the assembly.

4.b Use M7 or 1/4" screws (not provided)on
the holeswith red circle to mountthe Mount

Bracketto the pole. Use the appropriate
screws depending on the mounting material.

4.a To install the PEACOC@ Clamshell Hardened
Teminal (CHT), unscrew the captive screw

using a wrench and rotate the unit clockwise to
access the back portion.

4.c Rotate the unitcounÍerclockwiseto return itto
its original position. ïighbn the captive screw b

lock the Mount Bracket in place.

For more infomation about the product scan the

QR code on the right side of the mounting kit.

Mountng holes

aa
12t1

Align the hole of the Lower Plate of the Pole Mountto the CHT uni[ then position the Anchor
Plate on top. Attached both the metal pafts using 3pcs M4 Pan head screws with splitlock

washer.

Anchor Plate

LowrPlate

M4 Flat Head
Screwswith Split

LockWasher



(ê'Grrro*"o
Customer lnÍormolion ond Assisionce

l. ZsZ-+ac-Saso

E GolFolon cdporqlion

28 Wqlds Folr Drivê

Somssêi, NJ 08873

'ó w,gofolon.com

ï

2

EACOC@ 8-Ports Clamshel I

Hardened Terminal (CHT)

Quick lnstallation Guide

B

4n

4

PEACOC@ 8-PORTS CLAMSHELT HARDENED TERMTNAL (CHT)
STRAND MOUNTING WITH ANCHOR PLATE

Use M4 screws to athch the mounting bracketat the right side and
bottom of the GHT.

QRCode

M4 Flat Head Screws
t
E

M4 Pan Head

Screws

lnsert the strand wire/cable
on the D-Clamp teeth. Fasten
the hex nut using wrench or
Jonard Tool.

To access the poÉs at the back, pull the lock & rohte g0o clockwise. Hold thr GHT
and turn it up b 180o clockwise.
Turn the lock at 90o counter clockwise to lock the new porition.
Repeatthe same procedure to flip back the CHT to ib original position.

*

:\

tt
A

4;

q,

B

t

(tÉ . r& - ffi..Í r".
i,

o

iw'
Anchor Plate

M4 Flat Head Screws
with Split Lock

llYasher

Align the hole of the Anchor Plate direcUy on
the bottom side of the CHT unit use 3 pcs M4

pan head screws with split lock washer.



(ffGr*ot"o D
Cusiomer lnformqfion ond Assisionce

l. 7i2-469-96s0

)S colFofon Corpddtion ï

ó ww.goÍoíon.em

28 Worlds Folr Drive

Somtrsel, NJ 08873

EiHEffi
c

q)
ta

A
(<.

È,

EACOC@ 8-Ports Clamshell
Hardened Terminal (CHT)

ick lnstallation GuideQu

PEACOC@ 8-PORTS CTAMSHELT HARDENED TERM|NAT (CHT)
DROP CABLE INSTALTATION

Pull the front part of the Lever to unlock the Drop Cable Lid.

cÏERMINAL
PEACOC@ CTAMSHELL HARDENED

PARTS

bdernal
Anchot Plate

Latch

$ub-StrucÍure Grommet

Adapter Holder

MetalGrating Plate

$ub-Gable Grommet

l-rtch

Drop cable Lid

ftletal GraÍng Plate

Feeder Lid

LÍft the Drop cable lid to access
the adaptars and remove the
dummyplug on the sub.cable
grommet

Pabh connector on tfte adapter and a clicking sound must
be heard b indicab that connector is lock into place^



(ë'crrot o
Customer lntormotion ond Assistonce

L zg:-los-soso

)i colFolon corpoEllon

28 Worlds toir Driye

Somdsel, NJ 08873

w,goJolon.com

Et'*Et

Ëffi

D

,il

t5c,

EACOC@ 8-Ports Clamshell
Hardened Terminal (CHTI

Quick lnstallation Guide

6
PoleMall Mount

Cable Ties

Gable Ties

Strand Mount

(t.l

'('

\,j'

"-t7.\"

'A\8,
\

Fix the cables on the anchor
plate using cables tias on both
sidee of the unit Make sure that
cables are properly secured.

PEACOC@ 8-pORTS CLAMSHELL HARDENED TERMTNAL (CHï)
DROP CABI.E INSTALTATION

Apply additional silicone grease on the sub.cable grommetand F2 grommet. Then
insertthe cable on the slitof the grommet.

DROP CABTES CONFIGURATION

F2 Grommet Type Drop Cable Size Remarks

5.2 x 2.8mm

lnstalled

Accessory

Available

Accessofv

Sub-Cable$ealirrgDia-4.&nm Round4.Smm

Sub-Cable Sealing Dia-5.2 x
2.8mm

S.ub{a,bleSealingDia-3.Ornm Round3.0mm


